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1. If	C.P	=	₹1220.00	and	S.P	=	₹1230.00,	then	profit	=
(i) ₹13.00 (ii) ₹15.00 (iii) ₹10.00 (iv) ₹7.00 (v) ₹5.00

2. If	C.P	=	₹2410.00	and	S.P	=	₹2020.00,	then	loss	=
(i) ₹394.00 (ii) ₹402.00 (iii) ₹390.00 (iv) ₹377.00 (v) ₹375.00

3. If	C.P	=	₹1710.00	and	S.P	=	₹1840.00,	then	profit	%	=
(i) 7.60% (ii) 6.60% (iii) 9.60% (iv) 5.60% (v) 8.60%

4. If	C.P	=	₹1580.00	and	S.P	=	₹1000.00,	then	loss	%	=
(i) 36.71% (ii) 31.71% (iii) 39.71% (iv) 33.71% (v) 41.71%

5. If	C.P	=	₹1960.00	and	profit	%	=	36.22%,	then	S.P	=
(i) ₹2490.00 (ii) ₹2930.00 (iii) ₹2430.00 (iv) ₹2670.00 (v) ₹2800.00

6. If	C.P	=	₹1280.00	and	profit	%	=	88.28%,	then	profit	=
(i) ₹990.00 (ii) ₹1360.00 (iii) ₹1300.00 (iv) ₹1130.00 (v) ₹880.00

7. If	C.P	=	₹2980.00	and	loss	%	=	57.05%,	then	S.P	=
(i) ₹1140.00 (ii) ₹1420.00 (iii) ₹1310.00 (iv) ₹1280.00 (v) ₹1110.00

8. If	C.P	=	₹1740.00	and	loss	%	=	4.60%,	then	loss	=
(i) ₹77.00 (ii) ₹80.00 (iii) ₹85.00 (iv) ₹75.00 (v) ₹83.00

9. If	S.P	=	₹1820.00	and	profit	%	=	19.74%,	then	C.P	=
(i) ₹1480.00 (ii) ₹1520.00 (iii) ₹1670.00 (iv) ₹1650.00 (v) ₹1240.00

10. If	S.P	=	₹2800.00	and	profit	%	=	145.61%,	then	profit	=
(i) ₹1720.00 (ii) ₹1510.00 (iii) ₹1390.00 (iv) ₹1660.00 (v) ₹1840.00

11. If	S.P	=	₹1130.00	and	loss	=	₹640.00,	then	loss	%	=
(i) 36.16% (ii) 33.16% (iii) 41.16% (iv) 31.16% (v) 39.16%

12. If	S.P	=	₹1450.00	and	loss	%	=	3.97%,	then	loss	=
(i) ₹57.00 (ii) ₹65.00 (iii) ₹60.00 (iv) ₹63.00 (v) ₹55.00

13. Find	gain	formula.
(i) C.P	−	S.P (ii) S.P	−	C.P (iii) M.P	−	C.P (iv) S.P	−	M.P

14. Find	loss	formula.
(i) M.P	−	C.P (ii) C.P	−	S.P (iii) S.P	−	M.P (iv) S.P	−	C.P



15. Find	gain	percentage	formula.

(i) [
S.P	−	C.P
C.P

✕100]% (ii) [
C.P	−	S.P
C.P

✕100]% (iii) [
C.P	−	S.P
S.P

✕100]% (iv) [
S.P	−	C.P
S.P

✕100]%

16. Find	loss	percentage	formula.

(i) [
C.P	−	S.P
S.P

✕100]% (ii) [
S.P	−	C.P
C.P

✕100]% (iii) [
S.P	−	C.P
S.P

✕100]% (iv) [
C.P	−	S.P
C.P

✕100]%

17. Find	selling	price	formula.

(i)
100

100	+	gain%
✕C.P (ii)

100	+	gain%
100

✕C.P (iii)
100	+	loss%

100
✕C.P (iv)

100
100	+	loss%

✕C.P

18. Find	cost	price	formula.

(i)
100	+	gain%

100
✕S.P (ii)

100
100	+	gain%

✕S.P (iii)
100

100	+	loss%
✕S.P (iv)

100	+	loss%
100

✕S.P

19. Two	articles	of	the	same	cost	price	are	sold.	If	one	article	incurs	a	gain	of	x%	and	other	a	loss	of	x%,	then	overall%loss	is

(i) 2x (ii) 1 (iii)
x
2
(iv) 0

20. Two	articles	are	sold	at	the	same	price.	If	one	article	incurs	a	gain	of	x%	and	other	a	loss	of	x%,	then	overall%loss	is

(i)
100
x

(ii)
x2

100
(iii)

x
100

(iv)
100

x2
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